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Overview

There is no liability if w7p7 is damaged (by 077 [11n]) or if w7P7 damages
(01771 1an). The only exception is by o°%p o°wip according to 3"7°7 who
maintains that 2"pp is v Pan. Previously X2 preferred to establish our
mwn according to the o°»on who are disagree with 3" and maintains that
all w7p are mM2ax Nnn. It is therefore not clear what liability is there for a
7710 1272 which damaged. o0 will clarify this issue.

Mmoo anticipates a difficulty:
— D29 17 PNHINN YH9) NIYT ) DY 9N

Even though that 837 explains' our 7w» (which states that the liability for
damages is limited to objects 77°¥n 372 PRW), is referring to P11 which have
no “oopn 1°7 meaning that they are not wpn -
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And X127 does not establish our 7mw» according to 2''519 who maintains that it
is possible to be 2 for damaging 0°%p o°w7p. However X231 disagrees and follows the
view of the 1127 that all 2*w7p are M2 P»» and there is no 21 for damaging 2°w7p. How

then can X217 discuss that liability of a 7710 12792, when according to the 7127 it is 723 1N
and is not 7°pr12 207!

mooIn responds:
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You must assume that here X271 is discussing what the ruling would be
according to 3''7799 who maintains that 7"pp are o7va nnn.

Summary
X217 1s discussing the ruling of a 717w 7710 according to 3",

Thinking it over

Why cannot we differentiate, between w7pi that was damaged ([as in the
mwn] where it cannot collect), and w7pn that damages ([as in the case of 7710
Ap>taw] where it is liable).’

"On x,».

* The nawn does not mean (according to X27) that you are liable for damaging %"pp since there is no arn
72°vn by 2"pp, for (according to X27) one is not 21 for damaging %"pp.

3 See 7"9101 *"01.
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